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def sottovettorel(A): ER(/ X8
n = len(A)
risultato=(0,0) “tevvel 5 7
somma=0 ' )
for 1 in range(n ): 4\
for j in range(i+1, ):

t=0

for k in range(i,j): ey R
t += A[K]

if t>somma: 3
risultato = (1,7) essiLa. ' "a

somma = t
return risultato
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18 def sottovettore2(A): ! . V ) i

19 n = len(A) “~ v N ) J
20 risultato=(0,0) ,
21 somma=0 et Sl b
22 for i in range(n ): )
23 t=0 Oo-NaZiorw
24 for 7 in range(i+1, h-n)
25 t += A[j-1]

26 if t>somma: Ird\echi e G "2)
27 risultato = (1,7) "‘_! '
28 somma = t
29 return risultato
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32 def prefisso(A,1i,Jj):

33
34
35
36
37
38
39
40

end, best = 1,0
v =0
for t in range(i,j):
v += A[ t]
if vsbest:
best = v
end = t+1
return end,best

def suffisso(A,1,7):
start, best = 7,0
v =0
for t in range(j-1,1-1,-1):
v += A[ t]
if v>best:
best Vv

start t
return start,best




52 def sottovettore3(A,start=0,end=None):

53
54
55
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68
69
70
71
72
73
74
75
76
77
78
79

if end is None:

end=1len(A)

# casl base

if start==end:
return (0,start,end)

elif start+l==end and A[start]<0:
return (0,start,start)

elif start+l==end and A[start]>=0:

return (A[start],start,end)

# Dividi
mid = (end+start) [/ 2 ' b\\l\be

# soluzionl ottime nelle due meta ~

vi,11,j1 = sottovettore3(A,start,mid) i’ CM V1 Covsi V2

v2,12,j2 = sottovettore3(A,mid,end) )

# soluzione a cavallo
left, vl = suffisso(A,start,mid)

right,vr = prefisso(A,mid,end) / 1

# Combina
return max([(v1,11,j1),
(v2,12,72),

(vl+vr, left,right)])
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